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CBT Practice test model answers

Costs and Revenues (CRS)

Practice assessment 2
Section 1

Task 1.1
[image: image2.png](a) Complete ALL entries in the inventory record for the receipts and issues of TY during December,
showing the closing balance at 31 December. Cost per kilogram entries should be completed in £ to
THREE decimal places. (Note: Only one entry is permitted per inventory record cell)

Inventory Record for TY6

Issues Balance
Date Quantity | Costper Total Quantity | Costper Total Quanity Total
kg kg (€) cost (£) kg kg (€) cost (£) kg cost (£)

[Batance 1 December 10000| 30000
3 December 20000 31 62000 30000 92000
14 December 10000| 3| 30000 20000 62000
19 December 14000) 42700 34000 104700|
[31 December 10000| 31 31000 24000 73700





Task 1.1, continued
[image: image3.png](b) Select the total cost of the balance of inventory remaining after the issue of inventory on 14 December
ifvalued using the weighted average cost method.
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£62,000

230,667





Task 1.2

[image: image4.png](a) Identify the correct entries in the journal to record the transaction by dragging the appropriate options
to the relevant boxes, and inserting the correct amounts (correct to TWO decimal places).

Receipt of 10 kg Grade 84 plasticinto inventory as a cash purchase at £15/kg.

‘Amount

[crear |[4000 Bank 150





[image: image5.png](b) Identify the correct entries in the journal to record the transaction by dragging the appropriate options to
the relevant boxes, and inserting the correct amounts (correct to TWO decimal places).

Issue of 17 units of type H52839 component (cost £408 per 50 units) to production of DVET.

ount name

lpeoit  |3767 DV67 work in progress p—

lcreait 2830 H52839 component p——





[image: image6.png]{c) Complete the following sentence by selecting appropriate items from each picklist.

account 3767 should be ] and account 2639 should be [gepies

To account for thi





Task 1.3

[image: image7.png]Profit Centre: Pla

xtru

Hours

Hours

pay per hour: £11.0

aoenion | wetteson | toes | masioore | 200 | rotpore
production | indirect work or

hencer s w s e
Tiningcoure

oesso s s |Tainecous w s e

beanssasr | 7 77 o 7

sesr | 0 W
e ek

- s 2| ™o w s e
2o igm
ety

. o | e o x| e
ety

o o | e W W e

o s | o wo| woas|  sses





Task 1.4

[image: image8.png]Use the following table to allocate or apportion the overheads using the most appropriate basis.

Basis of apportionment

Plastic
moulding
£

Plastic
extrusion
B

Maintenance
£

Stores.
£

General
admin
£

Depreciation

[Carmying amount of machinery

350036 202484, 562400
charge for machinery

Power for [Production machinery power usage (KwH)}

production 184175 134325 298500
Rent and rates [Floor space 25600 25600 3200 3840 64000
Light and heat [Floor space 11440 11440 1430 1716 28600
Indirect labour (Allocated 98206 21070

Totals. 373829 108540 45406 1112625|
Reapportion N N

et 69251 37289 108540

Reapportion 0280 15420

Stores

Reapportion

oo aamin 2703| 22703] 45406

Total overheads to 663385 449241 1112626

production centres





Task 1.5

[image: image9.png](a) The budgeted overhead absorption rate (to TWO decimal places) for the Plastic moulding department
‘based upon labour hours, and for the Plastic extrusion department based upon machine hours, is:

Iding drusion

|Budgeted overhead absorption rate | [225 perhour| [43.25 perhour|

(b) If the overhead absorption rate for the Plastic extrusion department is £44 per machine hour, the.
‘actual overheads incurred were £250,000 and the actual machine hours used were 5,900 hours,
‘complete the following table:

IPlastc exusion department | 250000 250600 9500

(c) Complete the following sentence by selecting the appropriate response and inserting the correct amount:

In Quarter 1 overheads for he Plastic mouiding department were [under-avsoroed Jig] ov: £ [675





Section 2

Task 2.1

[image: image10.png](a) Complete the table below and calculate the estimated profit per batch of LT92 at the different activity levels.

‘Sales revenue 11250 18750 33750)
Variable costs:

- Direct materials, 3750) 6250 11250

« Directlabour 2250) 3750 6750)

- Overheads 1125| 1875 3375
Fixed costs:

« Indirect labour 1750 1750 1750

- Overheads 500) 500 50|
Total cost 0375| 14125 23625|
Total profit 1875| 4525| 10125|
Profit per batch (to 2 decimal places) 250) 37 45]

Broadsword Ltd estimates thatif it produced 2,500 batches of LT92 there will be extra fixed costs of £750.

(b) Complete the following sentences by using the picklists and inserting an amount (correct to TWO.
decimal places).

The profit per batch of LTS2 increases with increasing activiy levels up to 2,500 batches because [fxed costs per batch decrease.

Wit ot o 75 h ot per bt production v o .80 btcheswi [ Il o <[ 30





Task 2.2

[image: image11.png](a) Complete the table below (to two decimal places) to show the budgeted contribution per unit of AZ10 and
'BY29 s0ld, and the company’s budgeted profit or loss for the year from these two products.

[selling price per unit
[Less: variabe costs per unit

[pirect material

[pirect lavour 06
[variable overheads 01
[contribution per unit 04
[sales volume (units) 50000
[Total contribution 20000

|Less: fxed costs
[Budgeted Jloss

“The total cost of producing 2,200 units of PDSS has been calculated as £17,000 and of producing 3,500 units is
£22,200. The only increase in costis the increased volume of production.

(b) Complete the following sentence by entering the appropriate figure (to 2 decimal places).

The fixed cost of producing P66 is: £ [3200 ‘and the variable cost of producing one unit of
Po8Is: £[7





Task 2.3

[image: image12.png](a) Complete the table below (to two decimal places) to show the total cost of the materials input into the process.

IMaterial 1 2400
IMaterial 2. 5000
IMaterial 3 800

[Total 9200





[image: image13.png](b) Calculate the total labour cost and total overhead cost for the manufacture of the new plastic
‘component, to two decimal places, and complete the sentences below.

“The total Iabour cost for the manufacture of the new plastic componentis: £ [500

“The total overhead cost for the manufacture of the new plastic compound is: £[1800





[image: image14.png]{c) Calculate the total quantity and value of inputs into the process for the new plastic compound, to two.
decimal places, and complete the sentence below.

‘The total quaniity of materials inputinto the process is: [1000 kilograms, and the total value of

inputs into the process is: £ [11600





Task 2.3, continued
[image: image15.png](d) Calculate the total scrap value of the normal loss of 15% of input. Your answer must be stated to two
decimal places.

‘The total scrap value of the normal loss of 15% of inputis £ [557





[image: image16.png]() Calculate the cost per kilogram of output assuming a normal loss of 15% of input. Your answer must
be stated to four decimal places.

“The cost per kilogram of output assuming a normal loss of 15% of input s £ [12.98





[image: image17.png]() Complete the sentences below, using the pickiist and gapfil, to identify the appropriate accounting
entries. Enter your answers to two decimal places.

i proces esufs i an uput o 95 egrams hrewil o [ somarmat g [

“This will have a total value of £

1947

kilograms.





Task 2.4

[image: image18.png]CComplete the table below to show a flexed budget and the resulting variances against this budget for the quarter.
‘Show the actual variance amount, for sales and each cost, in the column headed ‘Variance'. Adverse variances
must be denoted with a minus sign. Enter 0 where any figure is zero.

Flexed
budget

[Number of units 14000 14,0001

[sales revenue 210000 215,200 5200
[Direct labour 81200 83,300 -2100
|Fixed overheads 40000 41,250 -1250
[Profitfrom operations 44000 47,250 3250





Task 2.5

[image: image19.png](a) Complete the table below to calculate the net present value of the proposed replacement machine.
{to the nearest £000). Use a minus sign to indicate a negative figure. Enter 0 where any figure is zero.

[Capital expenditure

[Sales income 280 350 450)
[Operating costs I 140 160
[Netcash flows 600 70 210 290|

[PV factors

[Discounted cash flows 600 148 159 191

[Netpresent value 02|

(b) Identify using the pickiist whether the net present value of the proposed replacement machine
s positive or negative.

Thenetpresentvalueis  [Negatve |

(€) Calculate the payback of the possible replacement moulding machine in years and months.
Enter whole numbers only. Partial months must be rounded up to the next month.

The payback periodis [ 2 | yearsand [ 10 | montns





�Sunday hours





The figures for Sunday hours in this task may be entered as 4 hours of double time made up of either:


 


£44 basic pay plus £44 overtime premium (as shown in the model answer); or�


£0 basic pay and £88 overtime premium, viewing all of the hours on Sunday as overtime premium. �


Both methods are equally valid for the purposes of this assessment. 





Please note that the figures in the Total row will need to be duly adjusted if using the second method.
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